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Date and time of the exam: 27 February 2020, 16.30 — 18.30

Duration of the exam: 2 hours

Identification:

You have to identify yourself using your certificate of registration (UvA-identification card) andva valid
proof of identity (passport, ID card) with a good resembling photograph. If you cannot identify yourself,
access to the exam may be denied. Also, if you are not correctly registered via SIS for thé ¢ourse component,
your exam will not be marked and registered.

Please write your name and student number on every sheet of paper you hand in. Also make
sure that you indicate the version number of your exam on youfraaswer sheet! This is version
number 1 (one). Exams without a version number will not be graded.

Warning against fraud/cheating:
Students who are caught at any form of fraud/cheating willb&punished.

Make sure that your mobile phone is switched off and put away in your briefcase/bag. This also applies for
other audio equipment, headphones, digital watches (€.g-A-watches) and other electronic devices. Your
briefcase/bag must be closed and placed on the flgOr beside your table.

Tools allowed:

You are allowed to use a normal calculatory(not a graphic calculator or mobile phone calculator), and if
necessary an unmarked dictionary.

Bathroom visits:

Because this an exam of 2 hours, it is not allowed to visit the bathroom during the exam.

Specific information on this exam:

The exam cortsists,of 30 multiple choice questions. The exam grade is calculated using a guess correction of
6. Thus/the grade formula is

Mid-term grade = 10 * (number of correct questions — 6) / 24

The grade is set at 1 if this formula leads to a grade below 1. This means that having 8 or fewer good answers
results in a grade of 1.0, 20 good answers results in a grade of 5.8, and 21 good answers in a grade of 6.3.

You are not allowed to take home any papers from the exam room. You may write on the exam questions,
but hand in the exam questions and any sheets you used for doing calculations.. This exam will be posted on
Canvas with the correct answers after the grades have been published, so there is no need to memorize your
answers for early checking of your results.
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Before you begin: please fi%)n our and version number on the

\,k muyltiple choice form. Do it now! This is version number 1 (one). 0{‘
( a,j’ \
le'/m \-‘le Choose the correct definition of a cost object.
6)7 w—) 1 A cost object is a resource sacrificed or forgone to achieve a specific objective. Examples
include direct materials, direct labour, anmertising.
2 A cost object is a cost incurred (historical or past cost), as distinguished from a budgeted
cost, which is a predicted or forecasted cost (a future cost). Examples include materials,
labour, and overhead.
3 object i hin hich a separate measurement is desired. Examples
include a product, a service, and a customer
4 None of theabove. =~ — ~—
E.g. Week 1 slide 9
Q2 Addirect cost is a cost that:
1 can be identified in a cost-effective way with a cost object
2 is incurTed-asadirect consequence of a decision
3 is charged directly to the operating profit and never included in inventeriable costs
4 is always variable: fixed costs are never direct costs
E.g. week 1 slide 11
Q3 The following information is known regarding a production company for_the year 2019
- Labor costs €63,000
Manufacturing overhead costs €179,500
Direct materials used € 150,000
Finished goods inventory 1 January 2018 1% € 197,500
inishe_zd goods in\{entory 31 December 20 € 221,000 0{1%()
/—> Work-in-progress inventory 1 January 2018 € 96,500 \
,.,7 Work-in-progress inventory 31\December 2018 € 109,000 M a&"\
What is the COSW in 2019? CQS,\, df ‘M
1 €392,500 : a{ djwﬁ.[/
o g of lods i TR
3 €416,000 1 W
4 €380,000 N ’MM @’}‘

Manufagturing costs (63,000 + 179,500 + 150,000) — increase in w-i-p inventory (since these WoN
are manufacturing costs incurred this year which did not end up in finished goods: 109,000 —
96+500) = 380,000

‘ \ wils o 0P
1 'XCOQ_‘_ of G@v@ bt -+ onchy WIF R

HSedt faomt TS+ 500w = X+ [dfeod

Xz 280009
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The following setting is used in questlons 4 through 7 mw 6%

Q4 Beta Manufacturing Co (BMC) produces heating radiators for large do-it-yourself chains. It
uses a normal costing system with a single overhead cost pool, using machine hours as the‘ {

llogten e
4))%3@*%

Job Nr 20 is started and completed in April 2018. It requires € 40, 000 in direct materials G\ﬁ’
costs, € 75,000 in direct labor costs, and 40Q.machine hours. W Zf IS the total manufacturmg’~ ‘ W

ool L S@®0 /50X « §0 ‘
ST OO X Joopa 115000 A P

€ 36,600 l 'g ,Oa()

Overhead rate 4,500,000/50,000 = 90, allocated to job 400*90 = 36,000, add>40,000+75,000

cost allocation base. The following data is available:

* Expected overhead costs in 2018: € 4,500,000 'Vq@. 7(

* Expected machine hours in 2018: 50,000 \\
\4‘« '\

A WO DN -

Q5 Atthe end of 2018, the actual overhead costs of BMC are € 4,600,0 nd the actual number
of machine hours are 52,000 hours. What is the amount of under- of overallocated overhead
in 2018?

€ 80,000 overallocated glOOD xqo = L/‘é% oJO[eN

€ 180,000 overallocated p——

€ 100,000 underallocated L{— 68(558{) OOQ g QOOOD
€ 100,000 overallocated

Allocated: 52,000 hrs * 90 = 4,680,000, s0 80,000%00 much  ()\/O¥ G\I IDCOT('/DY\ l r 4

Assume (irrespective of your answer to%n 5) that the amount of underallocated D\l
overhead over 2018 is € 150,000. The_following data is know regardlng cost of goods S

0
and inventory at the end of 2018 for BMC: %‘Qﬂ Wjﬂﬁ\

—Cost of goods sold: € 11,250,000y for which 41,600 manufacturing hours have been used
— Finished goods: € 2/250,000}of which 6,500 manufacturing hours have been used
Work-in-progress: € 1%600,000, for which 3,900 manufacturing hours have been used

B o DN B

Q6  Using proration\based-on the allocated overhead amount in the end-of-year balances, the
value of the finished goods mvenUr after proration of the € 150 OOO in underallocated m
overhead i$ Q.u ’5 625!)
1 €2,268,750 (/[m > Ji 0 M
2 €2,231,250 {)A
3 €2072500 T Qm( Wﬁ% @G&S SR [ﬂébb;(
4. € 2,227,500

Allocated overhead in fin goods 6 500/(41 600+6 500+3,900) = 12.5%, sharehfhm ?FM’ Gsm
underallocated overhea(*lé 5% % 159\.30,00 18 50 add to |nv oryég«‘ 5} ‘LF ‘ﬂm %\

Q7 Using proration based on |mmed|ate te off to cost of goods sold, the value of the work-in-
progress inventory after proration of the € 150,000 in underallocated overhead is
€ 1,515,000

€ 1,350,000
€ 1,650,000
€ 1,500,000
All underallocation to COGS, no change to w-i-p

B WO N -
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The following information applies to questions 8 throug 10
onmderAhe foIIow ng data of WM Co, a yoghurt producer, for the month of May 2019:
Q \ [ \M

l:(ilu IV‘/\\[QIY}' MMEB Ud“ Litres  Materials costs  Conversion costs

A WO DN -

Q9

Work-in-process, May 1 60,000 € 320,000 € 30,000

Degree of completion T 100% 30%
Production started in May 410,000 mj )(5 E[ F
Production completed in May 420,000 .1\
Ending work-in-process, May 31 505099 /

Degree of completion : 1000/ v X 00/
Costs added during May € 2 460,000 € 1 105,000

As a result, the total costs for producmg the co[n leted goods and the en .,’F] work dmsproce ?ﬁi

ay|s€3 15,000
5070 IO

Using the w. ghted average method of process costing, what is the cost of the'closing 4/,!«

in-process at the end ?f this manth (rounded at € 1,000)?

€ 400,000 ZQ@‘GD 4_, Pl

€ 394,000

€99,000 &(r{ Wl 4470’(() _ “

€ 296,000 = o0 B 250
Equivalent units materials: 420,000+50,000= 470 000,-sQ Gost per eq unit  — ‘—’%—'
(2,460,000+320,000)/470,000 = 5.91,in w-i-p 50,000%6-91 = 295,745

Equivalent units conversion: 420,000 + 80%*50,000=460,000, so cost per eq unit 1(" "L.\ LFT,

1,105,000+30,000)/460,000 = 2.47, in w-i=p 4Q,000*2.47 = 98,695, total 394,440
( R

Using the FIFO method of process costifng,-what is the amount of equivalent units of
conversion costs for which this month’s conver5|on costsof €1, 1095 E;n':urred aqunded

at 1,000 units)? F

1 431,000 equivalent units _,———i
2 000 equivalent units -k m
3 418,000 equivalent units WWJ’ _\‘ F F\) [ x‘l/ &1\( WA «
4 470,000 equivalentyunits \: IN \AM 'L ‘M (AM w L -
Work on openifig/\W=i-p 70%*Q0 000, started+compl 360,000, elosing w-i-p 80%*50,000 %
[}
Q10 Using the FAEO¢method of process costing, what is the value of the di ials in the
cost of the\xcompleted output (rounded at € 1,000)? 6
1 €2,480,000 2060 %5}7
) e
2 €2(160,000 = L}/ 0 (’Z@
3- € 2,780,000 E@
4 2,520,000 — %1
Eq units materials: 410,000, per unit 2,460,000/410,000 = 6, in completed output 320,000
(opening inv) + 360,000 * 6 = 2,480,000 \+ (}05’\’ h:r)@
%\;m :
h= IM\/\XL,;{’ M ‘\\’w ol = q:lo(% gococﬁ 7/
Mid-term MA 1 for Economics (6012B0456) 27 February 2020 V\, 0(61' 4/é
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Q11 Which one of the following statenEZtYs\;s\correcto ] W\*‘t Wﬂ*ﬁ \ \

When input prices have increased in a month, the ending work-in-process is v&IUe/ hlgher

under the FIFO method than under the weighted average method

2 When input prices have increased in a month, the ending work-in-process is valued higher
under the weighted average method than under the FIFO method

3 Differences in the value of the ending work-in-process under the weighted average method

and the FIFO method can only occur when completion rates are lower than 100%

The weighted average method corrects for degree of completion in the input costs, while the

FIFO method assumes that units are always fully completed.

Week 1, slide 56

=

o

Q12 What is the most appropriate product costing system for a manufacturing organization/that
makes a small number of uqi s, which arg di erent for each client?
Job costin

Process costing
Activity-based costing
Variable costing
Week 1 slide 23

A o DN B

The following information is relevant for questions 13 through 15

Western Co produces truck trailers for transportation companies. It has four departments, of
which Assembly and Finishing are the operating departments, and General and Facilities the
support departments. The following data are known:

J, 4

Facilities Ger;gral Assembly  Finishing Total
Department costs (€) 1,500,000 1,200%00 4,000,000 3,000,000 9,700,000
Square meters 500 TG00 2.000 3000 6500
Employees 10 20 30 60 120

———— rd

So the Facilities department hasicosts of € 1,500,000, uses 500 square meters, and has 10
employees. Facilities costs ate alocated using square meters as an allocation basis, and
General costs are allocated ysing the number of employees™as an atfocation basis.

Q13  Using the direct method, what amount of General depart ent costs WI|| bg allocated to the
,Q dﬂ'g Finishing department (rounded at € 1,000)? s ‘Bj
\ \/\\(L 1 €400,000 W P
7. 2 €1,200,000 ” JCUFR)/]
‘bxke) 3 €600,000 on 4 OM
€ 800,000
,YLOL(?’O%O)*LZOO’OOO = 800,000
Q24" Using the step-down method with General costs allocated first, what is the cost of the

Finishing department after al ocatlon of all serwce department costs (r undeq 1 OOO)
€ 1,697,000 Dj /

1
2 €4,692,000 M“Mf}
3 €4,700,000 &/
4 €5,008,000 T"Q‘M'j

General to Facilities: 10/(10+30+60) * 1,200,000 = 120,000, to Finishing 60% /720,000 '

Facilities to Finishing: 3,000/(2,000+3,000) * (1,500,000+120,000) = 972 000

Flnls |ng 3,000,000+720,000+972,000=4,962,000
L X oy, = 120000

\1m|\\m?e€m roi}%m.cs(ng_oz?; Febru;&; 5020 é
150 oo = |
“me‘ﬁ“lzmrzzﬁm Taclie, - 15 Ooo;r/} \};@ o
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Q15 Using the reciprocal method, What amount of FaC|I|t|es costs will be allocated to the

Assembly department (rounded at € 1,000)?

€ 600,000 _}_, hg( \
€ 495,000 @%'4 [2(@003

€ 659,000 - So-o—we Qm

€ 549,000 FﬁC - \ Qﬁz;) %

Fac= 1,500,000 + (10/(10+30+60) * Gen = 1,500,000 + 1 * Gen

Gen = 1,200,000 + (1,000/(1,000+2,000+3,000) * Fac = 1,200,000 + .167 * Fac é 1}17 %

B w0 DN

Fac = 1,500,000 + .1 (1,200,000 + .167 * Fac)
.983 * Fac = 1,620,000, so Fac = 1,647,458

To Assembly: 2,000/(1,000+2,000+3,000) * 1,647,458 = 549 153 ’ >‘ %
h—— 1
nt visittin

Q16 John Jaspers is an Amsterdam-based consultant who is about to leave fo

Rome. A roundtrip ticket Amsterdam - Rome vv costs € 750. Just before Ieavmg, hi's

manager informs him that after his job in Rome he has to continue to Athensfar another

client. The combined ticket Amsterdam - Rome - Athens - Amsterdam cests-€ 1,100. A

roundtrip to Athens from Amsterdam vv would cost £200. Using the stand -a ethod to ({ I

allocate common costs, what are the costs allocated to the Athens cli n
€900 ” ‘ '; 4
€1,100

€200 C(; fl’l( Wbﬂ%

€ 600
900/(750+900) * 1100= 600, week 2, slide 22 l [Ob X == é 0o,

The following information applies to quéstions 17 and 18 (7@‘)'

Seoul Tomato Group (STG) buys tomatags-and processes them into canned peeled tomatoes
and ketchup. Each 1000 kgs of tomatggSiit buys results in 500 kgs of canned tomatoes, and
200 kgs ketchup. The remaining 300'Kgs is lost during the joint process. The cost of 1000 kgs
of tomatoes is € 550 and the joint‘processing costs are € 350, so the joint costs before the
split-off point are-€-800. Afterthe split-off point, specific costs are incurred for the canned
tomatoes.o:f_ﬂﬂ.aﬂ.per kgiand for ketchup of € 1.50 per kg. A kilogram of canned tomatoes
sells for € 1.50, and akilogram of ketchup for € 3.50.

B WO N -

Q17 Using the net realizable value as a basis for allocating the joint costs, what is the profit for the gbélw
500 kg of canned‘tomatoes that is produced from 1000 kg tomatpes? lﬂ_
1 €100 ]ﬁ)ﬂ%{t
2 €60 Jdtn‘l Q)éf’l LQ W\Q’(’Q 5
3 €40
4 €52

NRV tom: 500 * (1.50-0.30) = 600, ketchup 200 * (3.50-1.50) = 400, so joint costs allocated

to tom 600/(600+400)*900=540, profit 600-540 = 60 Em M \)mwck}
’0“00\93 ey / O\BXSOD o

ﬁg Zo—sx%S;IE -
ﬁUDX o 140 - 5o M 83’-58(0"64

./
Mid-term MA 1 for Economics (6012B0456) 27 February 2020
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M\“O\m : Q18 By further processing, STG can upgrade the quality of both canned tomatoes and ketchup.

For canned tomatoes, an extra step costing € 0.60 per kg (in addition to the current specific
costs per kg of € 0.30) will lead to a market price of € 2.00 per kg of canned tomatoes. For
- . ketchup, an extra step costing of € 0.75 per kg (in addftfon to the current specific costs of €
< 150 per kg) will lead to a market price of € 4.50 per kg of ketcheup What should STG d
¢Q garding these upgrading possibilities? =

Do not implement the canned to e doi upgrade 0\
(»/Q( 2 Do not implement the canned tomatoes upgrade, and also do not implement the ketchup }blmr

upgrade -~
0 O*‘O 3 Implement the canned tomatoes upgrade, do not implement the ketchup upgrade 4/";/2\ 17 <

4 Implement the canned tomatoes upgrade, and also implement the ketchup upgrade \

Incremental revenue tom 2.00-1.50 = 0.50, incremental costs 0.60, don’t do it M%'af
U\vlg .
=

Incremental revenues ketchup 4.50-3.50 = 1.00, incremental costs 0.75, do it

Q19 Why does Wmmg potentially result in an increased profit?

1 Since fixed costs are included in the unit cost, the unit cost decreases when‘production
volume increases.

V Since unit costs are higher, a firm can charge higher prices for itS'graduct.
4) It reduces product cost in the shogt term, as costs are excluded. ﬁx@[
d\’\wg/6 eek 2 slide 46 Mﬂ}‘}ﬂa WQ J

he following information applies to question 20 and /mﬂ 7\% Cdﬂ- U ~

CCé\/ QAQPS Milano Motor produces motorcycles. It has a nermal production level of 500 umts per month,
fixed costs of € 1,000,000 per month, and variable cost per unit of 31_,100 per unit. For the

month of February 2020, actual productioriis 450 units, while sales equals %nlts A

motorcycle has a selling price of € 4,500 p—

Q20 What is the operating profit over4ebruar 20 tor uses
variable costing? I M
€ 1,148,000 (/o = W
€ 148,000 YM !‘ ( ’

€ 260,000 OW\% AQ* %T

€ 228,000

Rev 410*4,500 =1,845,000, var costs goods sold 697,000, fixed 1,000,000, so 148,000

A WODN -

Q21 What isthe,operating profit over February 2020 (rounded at € 1,000) if Milano Motor uses

absorption costing with a normal costing approach? ({, w
€ 80,000 e —— 4»/0?(%@0 »nmx Q

€.228,000
€ 237,000 [
€ 328,000

Unit cast 1,700 + (1,000,000/500) = 3,700. Rev 1,845,000, cost of goods sold 410 * 3,700 = J

AW DN -

1,517,000, production volume variance 50 * 2,000 = 100,000 unfavorable so 228,000

okt Fovnwa. . Tpoety peft ucorelspir
= Ot medgdwc’g&xw\ﬁw

Mid-term MA 1 for Economics (6012B0456) 27 February 2020
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Q22

Q23

A WO -

Q24

4

5

llm

1

3

W

v L Y
Hswstical Cﬁfmﬁ
Which of the following denominator-level capacity concepts both emphasise the output
customers demand for products produced by a plant, rathert n thgoutput th

The thegretical capacity and the p apacit

The theoretical capacity and the master- budget capacity

The normal capacity and the practical capacity
The normalcapacity and the master- budget capacity ( b\"’
Week 2 slide 48

A company requires 688-kg of raw material Z for a contract it is evaluating. It has 40Q kgs of

material Zd which were purchased last month. Since then, the purchase pric as
risen by 8% to € 27 per kg. Z isﬁusewmw‘_gm productions/What is
the total relgvant cost of Z for the contract?

€ 15,400

€5,400 6 o X 2

€ 16,200 —

€ 15,000

Replenish all used materials at market price: 600*27=16,200,since it’s needed for egular
production

Output is the only cost and revenue dr|ver
All variable costs are excluded
Total costs and revenues display a non-linear behaviour

Week 3 slide 11

Ms Johnston runs a restaurantin‘a-tourist area of Haarlem, with a lot of seasonal variation.
The following informatioh available regarding revenues and profits for each quarter of the

Which of the following is an assumption of CVP gnal Sis? V.‘ '
\%/otal costs and revenues are equal lp”ﬂ” PHST\
2

year 2019: d
Revenues Profit / loss j i;; Qﬂ/
Quarter 1 €50,000 ’i €-2 /—4.\-/‘
Quarter 2 € 70,000 4,500 \W Vnﬁw
Quarter’3 € 100,000 € 15,000
Quarterd € 80,000 € 8,000
Total € 300,000 € 25,000

So in the first quarter, there was a loss of € 2,500 on revenues of € 50,000, while for the
whole year profits were € 25,000 on revenues of € 300,000. What is the break-even sales 1;
6—9

(rounded at € 1,000) p_,xear for Ms Johnston S restaurant’) qgm ._(J)
€ 80,000 - _h(\ Lﬂ
Sg,&, 229,000 -

€0 m

€ 275,000 03 5
hange Q1-Q2: rev +20,000, profit +7,000, contribution margin on sales 7,00/20, 000 = 35%

Mid-term MA 1 for Economics (6012B0456) 27 February 2020

In Q1: contribution = 35% * 50,000 = 17,500, loss 2,500, fixed costs must be 20,000 per Q

Break-even sales = 20,000/35% = 57,143 per Q, so 228,571 per year _7/ \’lSoO
zb 8



UNIVERSITEIT VAN AMSTERDAM

Q26 Ms Johnston is aiming for an additional restaurant, where she wants to offer lunch menus in
addition to evening menus. She estimates that this new location will involve fixed costs of €
100,000 per year. A lunch menu will generate € 7 in contribution margin, and an evening
menu € 13. Ms Johnstone expects a mix of 40% lunch menus anq‘_69_% evening menus. How

many lunch menus will be sold at the break=even point? l/w'd’]
\1[/3744 / ‘ : “"‘&.
5,714 %)(
3 2,000 /’P"’—‘
4 14,286 Coniotan s N 'QWM’\

Average contribution at constant mix: 40%*7 + 60%*13 = 10.60, break-even sales
100,000/10.60 = 9,434, of which 40% lunch = 3,774 %\m ZhL 'l ,), Oléﬂ 5
Qg? A company has three shops (R, S, and T) with the following budgets (in € 1,000)

~ }0 A
R S T Total
Sales 400 —3500_ 600 1,500
Variable costs 0 2 18 1 220 /%7,

Fixed costs 60 ) 70 19 200
Profit/loss 40 -10 50 80
VA %@(o\ //

Of the total fixed costs of € 200,000, 60% is general comipany.averheads, and these are

allocated to the shops basedon jsalee-vélﬁe The otherfixed costs are shop-specific and will =« 3_,
be avoided if a shop closes down. If sh,g_s is closed down, what will be the revised budgeted ‘7L

profit for the company as a whole?

o oo v g

2 €60,000

i mﬁ%ﬁﬁ

Allocated fixed overheads talstores: 60%*200 = 120, of which 500/(400+500+600) = 33% to
S =40,000. So store-specific fixed costs for S are 70-40 = 30. New sales 1,500-500 = 1, OOO @
7

%;%i

new var costs 1,220-440%=-780, new fixed costs 200-30 = 170, new profit = 50

Mid-term MA 1 for Economics (6012B0456) 27 February 2020 9
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The following information applies to question 28 and 29

A company has the following production planned for the next four weeks. The planned
production is equal to the maximum demand for each product.

A B C D
Selling price €160 €214 €100 €140
Raw material X €48 €74 €46 €58 Mz
Direct labor costs 66 €88 €33 €22 Gﬁh{m\ﬁfm‘ %
Fixed costs (allocated) 24 €10 €8 €12
Profit €22 €42 €13 €48

Planned production (units) 300 125 240 400 W
Direct labor hours per unit Y 8 3 2 /Ww
Q28 Part of the direct labour force is threatening to go on strike in the next four weeks; reducing

the available hours to 1,500 instead of the usual 4,320. If the strike goes ahiead, which
product or products should be produced to maximize the profit over this period? Remember

that the planned production equals the maximum sales in the next fourveeks.

D only _—

& I OSSR
Aand D - { 6 —~ !

4 BandC

Contribution margin per unit = price minus (materialStdirect labor), then calculate contr
margin per labor hour as bottleneck

A: 46/6 = 7.66, B: 52/8 = 6.5, C: 21/3=7, D,60{2=30. First D for 800 hours, then 700 hours
for A

w N -

Q29 After negotiating with the employees;thexcompany has managed to avoid a strike. However,
a different problem has turned up: thesmaterial X used in producing the products is in short
supply, and it is likely that the planined production cannot be met. All products use the same
material X as input. Which product should receive priority from a financial perspective if

there will be a shortage in material X?
—

A W N R
Oo0Ow>»

Contr marQ per €uro of X: A: 46/48=.96, B: 52/74=.70, C: 21/46=.46, D: 60/58=1.03, so D

Q30 One=timejonly orders should only be accepted if

1 [Thereare no opportunity costs

2 Incremental revenues exceed fixed costs.

8~ Total revenues exceed total costs.

4 Incremental revenues exceed incremental costs.
Weéek-Sshde39————

This is the end of the exam.

Before you hand in your answer form and go home: did you fill in your student number
and version number on the multiple choice form? This is version number 1 (one).
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